MODEL QUESTION 20

1. Fill in the blanks with the words from the box. Make any change if necessary.

[who [the [in | as | behind | work | correctly | importance | long |
Sincerity is (a) root of success of all works. One can go a (b)_ way if one does anything with
sincerity. The rich people are sincere to their (c)_ and they are capable of making anything successful.
(d) great men are also sincere (e) they know that sincerity is the key-stone to success.
Those(f) do not follow the rules of sincerity can never go a long way in the world. The poor people
are not sometimes sincere and lag (g)_ . If they do not know the (h) of sincerity, they cannot
make a good use of it. Sincerity is the tonic to any work because it helps the work to be done (i) - 30}
we would be sincere (j) every sphere of life.

a e i
b f j
c g
d h

2. Fill'in the blanks with suitable words.
Today, the Rohingyas are the single largest (a) — community in the world. Their lack of citizenship (b) —
their vulnerability because they are not (c) — to-any legal protection from the government. Without
citizenship, they are (d) — of the basic rights such as (e) — to health services, education and employment.
The (f) — rate among the Rohingya for example, is staggering 80 percent. Additionally, they have been (g)
— from the right to worship freely. They also face (h) — on the right to marry, move and (i) — property
because of their religious and (j) — identity.

a e i

b f
C g
d h

3. Make five sentences using parts of sentences from each column of the table below.

A B C

Globalization are their joys and sorrows like next-door neighbors .

They is a process of in an instant what is happening in the farthest corner of
the world.

Countries of the world | can now learn like families in a village .

It can even share expanding trade and commerce all over the world by
creating a borderless market .

We has a far reaching | effect on many aspects of life .

4. Complete the following text with right form of the verbs given in the box.

| depend | conquer | illustrate | provide | abuse | be | afford | made | shorten |
Modern science is nothing but a skilled magician in fact. One after another it a)__ the mankind with new
wonders. It has absolutely b)__ the indomitable forces of nature and use them like its dominant but loyal
servants. The wonders of modern science are so many that we cannot c)__ them in a short time. The credit
or discredit of either using or d)__ science €)__ on man, not science itself. Electricity f)__ the most wonderful
service to us. Without it the whole civilization will collapse. Television has g)___ the world small. It has also
h)__ time and distance, It can be used as a tool in social, political, economic, cultural and religious news of
home and abroad. But it has some i)__ too. Computer j)__ an essential thing for modern people.
a i

i

ol [~

b
c
d
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5. Rewrite the following passage in the reported speech.

Rashed said to me, “Have you finished the book | gave you yesterday?” “Yes, | have finished reading the
book,” | replied. “What an interesting book it is! | wish | would borrow the book earlier,” | said. “Will you
return the book to me today?” he asked.

6. Change the sentences according to directions.
a. The old man told him about his last journey on the sea (Make compound sentence)
. The sea was frozen and the ice was all around them (Make complex sentence)
. In those days, there were no steamships (Make affirmative sentence).
. The weather was very cold and there were few birds or animals in that snow-covered country (simple).
. They saw an albatross (Use passive voice).
The sailors thought that it was a sign of good omen (Make simple sentence).
. It came to the ship everyday (Make interrogative sentence).
. But one day the old sailor shot the bird (Use passive voice).
He killed the bird which made the wind blow (Make simple sentence).
As there was no wind, the ship could not move (Make compound sentence).

T oTm thD Q0T
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7. Complete the following sentences.

(a) If we drink arsenic polluted water,

(b) Surface water is safe when

(c) Pond water is not safe as

(d) because they are not conscious.

(e) Since there is scarcity of pure water,

8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

Debate is an art of speaking. Its practice helps the (a)___ (debate)___ tospeak (b)___ (logical) __.Itteaches
(c)__ (argument)__. You cannot defeat your opponent if you speak (d)___ (logically) __ . An (e)___
(argument)___ speaker can beat the opponent in the competition. Debate also helps a speaker to be (f)____
(create)__ . Debate also(g)___ (smart) ____ a participant. So we should (h)___ (courage)___ our students to
take part in debating (i)___ (compete)___. Now, there are many (j)___ (organize)___ to arrange debate
competition among students of different schools and colleges.

a e i

b f j

c g

d h
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9. Make tag questions of these statements.

: There are certain things one has to do well in the examination, ?
: One needs to prepare really well, /s
: There is no scope for irregularity, ?
: You must not cram ?
: If you depend on cramming, you can’t answer the unexpected questions well, ?
10. Fill in the blanks with suitable linking words from the list.
Smoking is a serious bad habit. It is a social crime. Smoking is such a bad habit (a) it is harmful for a
person both financially and physically. (b) , smoking has a bad effect on the society. (c) a
man smokes, he has to pay an amount. (d) this smoking is equivalent to taking poison knowingly.
Rich men spend a handsome amount for smoking (e) could be sufficient to satisfy the hunger of a
poor family.

a C e

b d

11. Rewrite the following passage and punctuate where necessary.

follow my example she said as we shook hands and never eat more than one thing for luncheon ill do better
than that i retorted ill eat nothing at dinner tonight humorist she cried gaily jumping into a cab you are a
humorist
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